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� ��?���0 l<8@m � ��2�� ��&�������� ��������. ��77�6�� ���&������
+������ �&��� � +������0 2������&�0 ��������&����. 2���&( �+��8
���&��� � �&�/��# ����� +������ �&��� +����0���� �6����2�/���� � ��8
���.-�� ��?��� ���&������. �6��2��� �&�.��� +������� ��+&� � �&��� �
+������0 2������&�0 )���&�������� L��0 +��$����� +���6������. ��
������ �����2� ���0 ��&������0 ���������A ��������. ��+&�+�����8
����� �&. ��2+������� 2������ +�������� 2������&� T � ���������
��77�6�� �&. ���$�����$�� ��6��0� � ���� Wa# Wl ��� L��2 +���8
+�&������.# /�� ��2+������� 2������ +�������� 2������&� ������ ���8
+����� � ��2+�������2� ����# +���� ���� � ��6��0� � L�� ��������.
�0��.� ��� ��+&�7�6�/����� +���2���� +�������� 2������&�# ��0���
��6��0�# ����# +���� ����# ��L77�$����� +������� ���� � ��6��0� 
�&��������. /��&����� 2���&�������� ��0����� �����2� � �/���2 ��8
���������j-�0 ��/�&(��0 � �����/��0 ��&���� 
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�����. +������� L������ � ��-����� � ��+�&&.���8+������2 2������&� �2���
?�&(9�� +��2������ � L���������# � ��0��&���/����0 +��$����0 +�-����# ����8
���&(���# 0�2�/����� � &����� +��2�9&�������# � ���1� � ����7�6��� � ��8
���.-�� ���2. �&. �������/������ �+�����. +��$����� ��+&�8�&���+������� � ��8
+�&&.��� +������0 �����0 ��+�&(6����. �����2� ��77����$��&(��0 ���������#
+�&�/����. � � '�����2 lEm# lFmA

C∑ ∂T

∂t
− εr

∂Wl

∂t
= ∇(λ∇T ) + (ClDl∇Wl + ClDTl

∇T )∇T, !<"

(1 − ε)
∂Wl

∂t
= ∇(Dl∇Wl) + ∇(DTl

∇T ). !D"

k���( C∑ = Cs+WlCl� T # λ 8������������� ��2+������� � ��+&�+���������( �&�18
���� ��&�� Cs n ��+&��2����( �����$� �?K�2� ��0��� +�������� ��&�� Wl# Cl# r#
Dl# DTl

n �������������� ���$�����$�.# ���&(��. ��+&��2����(# ���&(��. ��+&���
��+�����.# ��L77�$���� +������� 1����� �&���# ��L77�$���� ���2���77�6��
1�������� ε n �������� 7�6����� +�����-���.# ������� �+����&.���. ��� ����8
9���� �62�����. �&��������1���. +���������2 ��+�����. � ��������$�� � �62�8
����j �&��������1���. 6� �/�� +������� 1������� :�6�/����� �2��& ��1����
/&��� L��0 ��������� +���� H&�� εr ∂Wl

∂t � ��������� ��+&�+���������� �+���8
���� +&������( 2�-����� +��&�-��2��� !∂Wl

∂t < 0 " ��+&� ��&������� ��+�����.#
� /&�� (ClDl∇Wl + ClDTl

∇T )∇T n �?K�2��. 2�-����( �����2�� �&� ������8
2�� +�����2 2���� �&��� � � ��?��&.. � ��������� ��+&�+���������� +��������
��&� ����/���� ��+&�# ������� ��6����j� 6� �/�� ��+�����. � +������� +�����
2���� �&��� +���������2 ��77�6��# +�&�/��2 ��������� ��+&�+���������� �&.
�&�1���� +�������� 2������&� ������ ���������8L�� ��������� ��77�6�� �&���
� �/���2 ��+�����. � ���2���77�6�� 

��� ��2�/��� � l=m# ���6����� +��0�� +�6��&.�� ��-�������� �+������( �����8
2� ��77����$��&(��0 ���������# �+�����j-�j +��$���� ��+&�8�&���+�������
� ��+�&&.���8+������0 �����0# �� ��6���� �+����&����� ��������� +�� �0 +���8
��/����2 +��2������# ��� ��� �������� 7�6����� +�����-���. ε .�&.���. �7��8
�����2� 7�6�/����2 +���2����2 

	�������. !<"8!D" ?�&� ��+�&(6����� � 2����/��&����0 �������/����0 ��8
?���0 +� ���&�������j +��$����� ��+&�8�&���+������� � ��+�&&.��� +������0
�����0 ������ ?�&(9�� ��&�/����� +�+���� ��������� �62����( +�&��� ��?��
��L77�$������# �0��.-�0 � +���������� ��������.# �&. ����������� +��������
��&� ����&� ���(2� +��������/���� ��6�&(����# /�� � +����j �/����( ��.6��� �
+���$�+��&(��� ����62�1����(j �62����( +���2��� ε 

� ��?��� l=m +���&������. �&���j-�. �����2� ��������� �&. 2���&�������.
+������� ��+&� � �&���A

C∑ ∂T

∂t
− r

∂Wl

∂t
= λ�T + (k∇Wl +m∇T )∇T − r∇(Dl∇Wl +DTl

∇T ), !@"

R
∂T

∂t
+Q

∂Wl

∂t
= ∇((DTv +DTl

)∇T ) + ∇((Dv +Dl)∇Wl), !B"

���

C∑ = Cs +WlCl +WvCv; m =
∂λ

∂T
+ CvDTv + ClDTl

; k =
∂λ

∂Wl
+ ClDl + CvDv;
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Wv = �v

(
P − Wl

�l

)
; �v = �v(T,Wl);

R =
∂�v

∂T

(
P − Wl

�l

)
; Q = 1 − �v

�l
+
∂�v

∂Wl

(
P − Wl

�l

)
;

P n +��������( ��+�&&.���8+�������� ��&�� Dv# DTv # Cv# �v n �������������� ��L78
7�$���� +�������# ��L77�$���� ���2���77�6��# ���&(��. ��+&��2����( � +&��8
����( +���� �l n +&������( ���� 

� �����2� !@"8!B" ��&�/�� �&��� � ���� +��� � 1������� �0���� � 7��2�&� �&.
+���������A

P =
Wl

�l
+
Wv

�v
. !E"

������# � ������ 2���&� �� �/����# /�� ���.�� � ��&�/��2 �&��� � ���� +���� �
1������� � +������2 2������&� +����������� � ��6��0# � 7��2�&� !E" +�� +�&��2
����9������ !Wl = Wv = 0" ���.�� �2��& 

� ��?��� lBm 2���&�������� +������� ��+&� � �&��� +�������� � �/���2 ��8
&�/�. ��6��0�# ���� � �� +���� � +������2 2������&� ��� L��2 ��+�&(6�����
�&���j-�. �����2� ��������� lCmA

∂Wv

∂t
= ∇(Dv∇W +DTv∇T ) + I, !F"

∂Wl

∂t
= ∇(Dl∇W +DTl

∇T ) − I, !="

∂Wa

∂t
= ∇(Da∇W +DTa∇T ), !C"

C∑ ∂T

∂t
= ∇(λ∇T ) − rI + (ClDl + CvDv + CaDa)∇W∇T+

+(ClDTl
+ CvDTv + CaDTa)(∇T )2 !I"

P =
Wl

�l
+
Wv

�v
+
Wa

�a
. !<>"

k���( C∑ = Cs +WlCl +WvCv +WaCa# W = Wv +Wl +Wa# � Wa, Ca, Da, DTa , �a

n �������������� ���$�����$�.# ���&(��. ��+&��2����(# ��L77�$���� +�������#
��L77�$���� ���2���77�6�� � +&������( ��6��0� � +������2 2������&�# I n ���8
����( �62�����. ���$�����$�� +����# +�.�&.j-�0�. � ��6�&(���� ��+�����. 1��8
��� �&��� ������ ��� ��������. �+�����j� +������ �&��� � ��6��0�# � ���������
!I" .�&.���. ���������2 ��+&�+���������� �&. +�������� ��&� � �/���2 +�������
�&���# ��6��0� � ��+�����. 1����� �&��� ��� �����# ��������� !<>" � ��&�/�� ��
!E" �� �����1�� +��������/�. +�� +�&��2 ��9���� �?��6$�# � � +�� +�&��2 ��9�8
��� ���( �?K�2 +�� ?���� 6��.� ��6��0�2 ��� � � ��?��� l=m# ��22���. ��������.
!F"# !=" � +������&.. I �6 !=" � !I"# +�&�/�2A

∂Wl

∂t
+
∂Wv

∂t
= ∇(Dv∇W +DTv∇T ) + ∇(Dl∇W +DTl

∇T ), !<<"

C∑ ∂T

∂t
= ∇(λ∇T ) + r

(
∂Wl

∂t
−∇(Dl∇W +DTl

∇T )
)

+
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+(ClDl + CvDv + CaDa)∇W∇T + (ClDTl
+ CvDTv + CaDTa)(∇T )2 !<D"


�+�&(6�. !<>"# ���&j/�2 Wv �6 ���0 ���������# � � +�&�/�2 �����2� ������8
��� �&. ���0 ��&�/��A T # Wl# Wa �/����2# /�� +&������� +���� ���� � ��6��0�
6����.� �� ��2+������� � �� ���$�����$�� 1����� �&��� � � �v = �v(Wl, T )#
�a = �a(Wl, T ) �����

Wv = �v

(
P − Wl

�l
− Wa

�a

)
,

∂Wv

∂t
=

[
∂�v

∂T

(
P − Wl

�l
− Wa

�a

)
+
�vWl

�2
l

∂�l

∂T
+
�vWa

�2
a

∂�a

∂T

]
∂T

∂t
+

+
[
∂�v

∂Wl

(
P − Wl

�l
− Wa

�a

)
+
�vWa

�2
a

∂�a

∂Wl
− �v

�l

]
∂Wl

∂t
− �v

�a

∂Wa

∂t
.

���&� ���&j/���. +�&�/�2 �����2�A

R
∂T

∂t
+Q

∂Wl

∂t
= ∇(Dl∇W+DTl

∇T )+∇(Dv∇W+DTv∇T )+
�v

�a
∇(Da∇W+DTa∇T ),

!<@"

C∑ ∂T

∂t
− r∂Wl

∂t
= ∇(λ∇T )− r∇(Dl∇W +DTl

∇T )+(ClDl +CvDv +CaDa)∇W∇T+

+(ClDTl
+ CvDTv + CaDTa)(∇T )2, !<B"

∂Wa

∂t
= ∇(Da∇W +DTa∇T ), !<E"

���

R =
∂�v

∂T

(
P − Wl

�l
− Wa

�a

)
+
�vWl

�2
l

∂�l

∂T
+
�vWa

�2
a

∂�a

∂T
,

Q = 1 +
∂�v

∂Wl

(
P − Wl

�l
− Wa

�a

)
+
�vWa

�2
a

∂�a

∂Wl
− �v

�l
,

W = Wv +Wl +Wa = �vP +
(

1 − �v

�l

)
Wl +

(
1 − �a

�l

)
Wa.

�����2� ��������� !<@"n!<E"# +�� Wa = 0 +���0���� � �����2� !@"n!B" H��&�����
2���&�������� +������� ��+&� � �&��� � ��+�&&.���8+������0 ��&�0 +��������.
+��&� ��?��&���. � �����2� !<@"n!<E" ��/�&(��0 � �����/��0 ��&���� 

�&����� +��/������(# /�� �����2� ��������� !<"8!D"# !@"8!B" � !<@"n!<E" +��
T = const !�6����2�/����� +��?&�1����"# ���������� ��+�����. !r = 0, ε =
0, �v = 0" � ��6��0� !Wa = 0" +���0��.� � ���� ��&������� ��������� ��77�8
6�� �&. ���$�����$�� �&��� WlA

∂Wl

∂t
= ∇(Dl∇Wl). !<F"

��L77�$���� +������� �&��� � +������0 2������&�0 Dl(Wl, t) +�� �����2
+��?&�1���� 2�1�� �+����&��(# ��+�&(6�. L�+���2����&(�� �62������� +��8
������������� +��7�&� ���$�����$�� �&��� � ��6��� 2�2���� ���2��� J��+���8
2����&(��� 2���� �+����&���. +���������������� ���+����&���. ���$�����$��
�&��� � +������0 2������&�0 � +�2�-(j �����������7�� �+���� � ��?��� lIm 
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�� ��� < !+�����" �� ������ ������� 2����� �&. +�������� �?��6$� � ��62���2�
3 × 9 × 12 �23# � �������� ��� ?������ +����0�����# ���2� �����# � ��62���2�
3× 12 �22 �����6�&������� +�������� +�&�/����� +��7�&� ���$�����$�� �&���
!� ���23" ���&( 9����� �?��6$�# ������ I �2 

���� �� ���4��� �������	 ��'�����
 

��# &����$ ���	)�	 ��� 
��!��	% t = 1, 2, 7, 14
� 21*' 
��# +��
$' �������, � ����
����
��0�% �	����
�����' ��������	��' 
�	��
+��	
$' �������,� ���� ���$% � ��!�0#� 	�	��)	 ������	)�
	��$% ����	��
 5�6�

	�������� !<F" �&. ������� �?��6$� +���0���� � ����2����� ��&������� ����8
����� ��77�6��# ������� � ?�6��62����2 ���� �2��� ���A

∂Wl

∂t
=

∂

∂x

[
D(Wl, t)

∂Wl

∂x

]
, t > 0, 0 < x < 1. !<="


�?���2 � L��2� ��������j ��/�&(��� � �����/��� ��&���.A

Wl(x, 0) = Wexp(x, 0), !<C"

∂Wl

∂x
(0, t) = 0, −D(Wl(1, t), t)

∂Wl

∂x
(1, t) = β(Wl(1, t) − v0), t > 0, !<I"

J�� ��&���. �6��/�j�# /�� ��/�&(��� +��7�&( ���$�����$�� �&��� ���+�����
� L��+���2����&(��2 +��7�&�2 ���$�����$�� �&��� � +����� ���( � �� &����
�����$� ����������� +���� �&���# � �� +����� �����$� +���� �&��� +��/��.���.
6����� �(j���� 

� ��?���0 l@m#l<>m +���2 ��9���. �?������ 6���/� ��77�6�� � ��+�&(6������2
L��+���2����&(�� �62������� +��7�&� ���$�����$�� �&��� �+����&.&��( ��L78
7�$����� +������� �&��� �&. ������� +�������� �?��6$� � ��?���0 l<m8lDm ��
2���&(��0 6���/�0 +���2 6�����. ��L77�$����� +������� �&��� � ���� +�&���8
2� ����(�� ���+��� �� ���$�����$�� �&��� D(Wl) = D0 +D1Wl +D2W

2
l +D3W

3
l

2���&�����&��( �L��+���2����&(��� +��7�&�� �&���# � +���2 � +�2�-(j ��9�8
��. �?������ 6���/� ���������&���&�. ��L77�$���� +������� �&��� !��77�$���8
�� D0, D1, D2, D3" 
��&�����&��( 6�����2���� ��/���� ���������&���. +��7�8
&� ���$�����$�� �&��� �� ���+��� +�&���2� � �� ��&�/����� L��+���2����&(��0
���� � ��?��� l@m �&. �+����&���. ��L77�$����� +������� �&��� ��+�&(6���&��(
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�	�� 
�. ��(44���*
���	 �������	 
�	�� � �	����! �	�	!����
� 
� +��
$' �������, � ����� !���!�)	���
�� 8#����� +��	
$' �������, 
�. �*��� �*��� ��*�� � ��*�� 
��' +t = 0, 05; 0, 3; 0, 65; 1,�
� (������!���	�#�$� ���4��� ��������	��� 
�	�� +����&�$� �����, 
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���

���&(��� L��+���2����&(��� +��7�&� ���$�����$�� �&��� ������� +��������
�� ��� < !+����� �������" ��� L��2 ��L77�$���� +������� �&��� ��?���&�. �
����

Dl(Wl, t) = p1W
p(t)
l +Ae−μ(Wl−v0), p(t) = p2 + p3(1 − t)p4 . !D>"

k���( pi; i = 1, 2, 3, 48���6������ ��������� ������� �+����&.j��. +���2 2���8
2�6�$�� 7���$����&�

S(P ) =
M∑

j=1

∫ 1

0

[Wl(x, tj) −Wexp(x, tj)]2dx, !D<"

A = 1, 5; μ = 150; v0 = 0, 01968��������� ������� �+����&.&��( +���2 ��9�8
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0, 65; t4 = 1" 	 ��� ��&�/����� L��+���2����&(��0 +��7�&�� ���$�����$�� ���8
�� +.��# �� +��7�&( ���$�����$�� �&��� � +����� ���( ��+�&(6����. ��� ��8
/�&(��� ��&����# � +� ����&(��2 +��7�&.2 +��������. 2���2�6�$�. �� ��� D
+�������� +��7�&� ���$�����$�� �&��� ��/��&����� �&. 6������0 ��L77�$�8
����� +������� �&��� !+��������� &����" �� 2���2�6�$�� 7���$����&� +� 2�8
���� �(j���� !&���� �������# A = 1, 5; μ = 150; β = 1500; v0 = 0, 0196; p1 =
60; p2 = 2; p3 = 3; p4 = 6" � +��&� 2���2�6�$�� !+����� �������# A = 1, 5; μ =
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4.36381240906837; p4 = 7.64488257609989" �&. D8��# =8��# <B8�� � D>8�� ���� !t1 =
0, 05; t2 = 0, 3; t3 = 0, 65; t4 = 1" ��� �����# +���2 2���2�6�$�� 7���$����&�
+� 2����� �(j���� 2�1�� ����� �+��2�&(��� 6��/���. +���2����� +�� ����8
��0 ��/��&����� +��7�&� � �������/�� 0���9�� ��/����� !�&. L��+���2����"
���+���j� � �0 L��+���2����&(�� �62������2� ��6�&(����2� 
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